
Document	
  réponse	
  (1	
  cm	
  représente	
  1	
  m):	
  

	
  
	
  
Solution	
  :	
  J'ai	
  colorié	
  la	
  zone	
  dans	
  laquelle	
  la	
  chèvre	
  peut	
  se	
  déplacer.	
  	
  

La	
  frontière	
  de	
  cette	
  zone	
  est	
  délimitée	
  par	
  des	
  .............................................................................................	
  

J'ai	
  mesuré	
  la	
  longueur	
  de	
  la	
  clôture	
  à	
  renforcer	
  et	
  j'ai	
  trouvé	
  .................................	
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